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%l 400,000
< 200,000
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Xl 500,000
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Xl 1,000,000
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201 L2l 5,000 0 5,000
03 A2 Z Hl 5,000 0 5,000
O23&cAM2AIAS M= 5,000
202 oddl 12,000 8,000 4,000
01 =W ofhl 12,000 8,000 4,000
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A= 2o FHE= M 23EEAY
g osdAEFA
el 2ot g F (&)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 21,700 21,700 0
02 PIZHEHAHEE 21,700 21,700 0
Dueeld=s22 e 21.700
308 XXM SOIA 500,000 500,000 0
01 IXNHHBANEES 500,000 500,000 0
O&AH0s223H X 500,000
NHETNAEZLRA 120,000 0 120,000
Xl 120,000
403 A X EHHS =0l A 120,000 0 120,000
Xl 120,000
01 X EHHMA=LE L 120,000 0 120,000
OXx2cHd2E28RN (NSZHI) 120,000
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201 Let249] 6,300 7,000 A 700
01 At 22/l 6,300 7,000 AT700
Ogst=2tl 6,300
O=dMERAUS 6,300
202 (4dl 9,000 8,000 1,000
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A SA - SAEA) - MRAY - BES 0l &t o il HImEET
403 UHXSHHSA=0l& 500,000 650,000 A 150,000
01 X SHMA2E X 500,000 650,000 A 150,000
O23AAZIALASS K 22| 500,000
ESAAT RSO 1,500,000 3,000,000 A 1,500,000
Xl 1,000,000
< 500,000
403 MtXISHHE X201 & 1,500,000 3,000,000 A 1,500,000
Xl 1,000,000
< 500,000
01 XM A=2EE 1,500,000 3,000,000 A 1,500,000
OZFHASSFAAZIMEAIES AL (X
E54l) 1,500,000
Xl 1,000,000
< 500,000
HH2IAZH (2SS HE AL H) 37,440 24,090 13,350
Jl2 &3l 37,440 24,090 13,350
JlE&l 37,440 24,090 13,350
201 £B-2%H| 26,440 16,300 10,140
01 At 22/l 26,440 16,300 10,140
O Yet==2H| 13,000
OMNEESLLEEZILYS 10,000
OMER=LENMFALHIS 3,000
[E=3=3:] 13,440
OZssdI2=IZ44l 13,440
202 O4dl 11,000 7,790 3,210
01 = LH o4 Hi 11,000 7,790 3,210
O=2stsddRFA 0 11,000




N = 0l & At & Ml A

AR 23BBHSE SN 23R4
g dSEARMAMAFT L E 2]
Sl 25HHE 4+ F | CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
E o= A D 101,577,198 79,799,747 21,777,451
= 64,086,206
Xl 7,040,000
J| 5,213,807
< 25,237,185
STRMAMAZTEE 2L 101,539,778 79,762,757 21,777,021
= 64,086,206
Xl 7,040,000
J| 5,213,807
< 25,199,765
23 ME+FHI 75,163,547 49,212,840 25,950,707
= 58,359,384
< 16,804,163
E}ME=FHIFA 32,100 84,700 A 52,600
201 2et2d]| 7,300 8,100 A 800
01 At 2teltl 7,300 8,100 A 800
Opt=2Hl 7,300
ORI ME+ZHFTUAREEZTALYS 7,300
202 044l 20,000 21,600 A 1,600
01 = LH o4 1l 20,000 21,600 A 1,600
D23 ME+=HH =&l 20,000
203 &2 =&l 4,800 5,000 2200
03 AIHZ=XH R =AH| 4,800 5,000 A 200
O23t2el g2 4,800
SNHNEEHE =+ 66,062,447 40,246, 140 25,816,307
= 58,359,384
=) 7,703,063
403 MtXSHHS =0l & 66,062,447 40,146, 140 25,916,307
= 58,359,384
< 7,703,063
01 X SHMA=2EE 66,062,447 40,146, 140 25,916,307
O=tXNE 2 HE = 66,062,447
= 58,359,384
< 7,703,063
EXNEEZMHE = 8,560,000 8,100,000 460,000
403 MHXISHE X201 & 8,560,000 8,100,000 460,000
01 X SHH A2 E= 8,560,000 8,100,000 460,000
OEXE2ME = 8,560,000
SN ESEI 259,000 532,000 A 273,000
401 AIEHI L 2CHYI 259,000 532,000 A 273,000
01 A& Hl 250,000 513,200 A 263,200
OEXNE2sMESAS 250,000




AR 2HBBASS SN 2R
g dSEARMAMAFT L E 2]
& 2AME=FH (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
02 Zeltl 7,000 15,000 A 8,000
OEXNE2MESESA 7,000
03 Al S THHI 2,000 3,800 A 1,800
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01 = LH 4 1l 17,500 19,000 A 1,500
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403 A X EH S 20l A 50,000 425,000 A 375,000
01 X SHHX2E= 50,000 425,000 375,000
OEZ XU IE XS A 50,000
22 XIOH & 3,250,000 3,280,000 /30,000
X 2,500,000
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Est2AZH== 2A o
LR e E=
H2OITR XA )
- _ _ RE]
DA - BB -G (3H) - MEAY - B Ol At o ﬁ}lgﬁ HRE2
= 425,000
[JHALHMMEHZAXLHANL (2R )(KNES 195,000
N 150,000
o= 45,000
OJSSH2VLMXILAAMA(SE)(XNES 325,000
Xl 250,000
& 75,000
OaZAHRA=Z2Z TS (22) (X 740,000
N 600,000
= 140,000
COJHEAHOI2ZXNZLEAMY(EE)(NEE 260,000
Xl 200,000
& 60,000
EH = AH 2+ 2 XH2 O 2 546,000 520,000 26,000
Xl 420,000
= 126,000
403 XX SHHS K201 & 546,000 520,000 26,000
Xl 420,000
o=t 126,000
01 XIS AS2E X 546,000 520,000 26,000
Osolioteter2 (ot 22 ) XA (Zgh) (X 546,000
Xl 420,000
& 126,000
SoflorZ A 2| e 600,000 1,640,000 ,040,000
Xl 600,000
403 XX SHHS K20 & 600,000 1,640,000 ,040,000
Xl 600,000
01 XIS A=Z2E X 600,000 1,640,000 ,040,000
ONOIEANA2ASXLKASAIE (88 (KNE X 200,000
Xl 200,000
OXNENIZSHZNIMNL(BE)KNEE 400,000
N 400,000
SREUHSHZI 22 5,145,400 4,420,000 725,400
Xl 3,958,000
& 1,187,400
403 XX SHHS K20 & 5,145,400 4,420,000 725,400
Xl 3,958,000
== 1,187,400
01 XIS A=Z2E X 5,145,400 4,420,000 725,400
OABAMSIsHEZ (WA )(XNSESL) 650,000
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OY9F=MBEENE(AF)(RNESD) 520,000
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< 232,200
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S RFA 22,800 25,500 22,700
201 Let24dH] 11,500 13,000 A 1,500
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O3HESHAL A AS M 6,000
202 O4dl 7,000 8,000 21,000
01 = LH 4 1l 7,000 8,000 A 1,000
O3St AME F=E 0| 7,000
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03 A FAH S Z=AY| 4,300 4,500 A 200
O3St MG =T 4,300
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< 150,000
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X 2,000,000
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=) 2,430,000
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